To be able to explore number bonds to 100 Mqthsi-;ec:l

Starter:
What's the same? What's different?

Explain your answer.

To be able to explore number bonds to 100 Mqthsi';eci

Activity 1:

Shade in the squares and the number sentences below.
1l2]s|a|s|s]7]8]s]|mw 1l2|s|a|s|e]7]8]s]mw 2|3|4|s|s]7]8]s]w
11[ 121314 15|16 |17 18] 19 |20 11] 121314 15|16 |17 18] 19 |20 11[12[13 14 |15 |16 |17 18|13 20
212223 24| 25|26 |27 |28 |29 |36 21] 22|23 24 |25 | 26 27| 28] 29 |30 21222324 |25 |26 |27 |28 |29 |30
31323334 ] 35|36 |37 |38 |39 | 46 51[ 32|33 34 |35 | 36| 37| 38] 39 |40 31(32 (3334|3536 |37 |36 |39 | 46
142 3] aa|as|a6 |47 |48 |43 50 a1(42[a3[aa]as|a6 |47 |83 50 41| a2 [43 [ 44 | a5 | a6 |47 a8 [ 45| 50
515253 54| 55|56 |57 |58 |59 |66 515253 54| 55]56 |57 |58 |59 |66 51[ 5253545556 |57 5859 |60
616263 64| 65|66 |67 686976 616263 64| 65| 6 |67 686976 616263646566 |67 |68 |69 70
1| 72|73 74|75 76| 77| 78] 79 |80 1| 72|73[74 |75 76| 77| 78] 79 |80 71|72 (73| 74| 75|76 |77 |78 |19 |86
&1 8283|8465 |ec |87 888950 81828384 65| 86 |87 888350 81828384856 |87 |88 |89 |50
915253549596 |97 |58 5 [1eg] 515253 4] 95|96 |57 |58 55 [1eg] 91925345556 |97 |98 |9 [100]

To be able to explore number bonds to 100 Mqthsheél

Activity 2:

Using the square 100 Base 10 piece to check your answer each time, calculate how many
more are needed to get to a hundred, if the starting amount is:

] 32+ =100
a

seven tens and three +73=100
ones

100=__ +81

To be able to explore number bonds to 100 Mnthsheci

Activity 3:

Using your number bonds to 100 knowledge, complete the calculations below.

To be able to explore number bonds to 100 Mqthsheél
Activity 4:

Complete the number pattern below. What is happening in the sequence?

100=0+ 100
100=5+95
100=10+90
100=15+85
100 =

100 =
100 =
100 =
100 =

To be able to explore number bonds to 100 Mnthsheci

Activity 5:

Complete the table below so each column and row totals 100.

15 | 65
5 | 35
45




To be able to explore number bonds to 100

Evaluation:

If | started with 47
cubes, | would need
another 63 to get to

100, because 100 = 47

Do you agree?
Explain your answer.
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